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RE
CTR: 59%
[([»I3-]: AV Vmax:4.12m/s AV maxPG:67.9mmHg

AR:IT MR:0 TR:0-I PR:0-I EF:0.59({HLHD#)

[M&]: Ht:29.3%, WBC:9320/uL, PLT:29.0 * 104/uL,
CRP:0.44mg/dL, TP:7.1g/dL, Alb:3.7g/dL, UA:6.6mg/dL,
UN:50.3mg/dL, Cr:8.0mg/dL, K:5.3mEqg/L, Ca:9.0mg/dL, IP:5.5mg/dL,
Mg:3.0mg/dL, GA:15.3%, BS:125mg/dL, TG:107mg/dL, ChE:229U/L,
TC:155mg/dL, AST:11u/L, ALT:5u/L, ALP:290u/L, yGTP:10u/L,
T-Bil:0.2mg/dL
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DEITWt:49.9kg HDHIIHt:29.3% HDEJTP:7.1g/dL
REME = 49.9(kg)+13 = 3.84(L)

I :115mL

DX-210GW: 7 74309 ) 1—L:126+115=241(mL)

(3.84-0.241) X 0.293+3.84=0.27 Ht:27.0%
(3.84-0.241) X 7.1+3.84=6.65 TP:6.65g/dL
FDX-100GW:7 74309 #Y)a—LA: 58+115=173(mL)
(3.84-0.173) X 0.293+3.84=0.28 Ht:28.0%
(3.84-0.173) X 7.1+3.84=6.78 TP:6.78g/dL
BERBETE n=2.1C+0.16C2+ 0.009C3 (mmHg)



HDEIl Ht:29.3% TP:7.1g/dL BBE;ZFEE :26.2mmHg
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FDX-ZlOGQV
Ht:27.0% TP:6.65g/dL B EZFETL : 23.7mmHg

AEMEERL

FDX-100GW
Ht:28.0% TP:6.78g/dL FBE ;ZEIL :24.5mmHg
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